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Il Semester B.Com. Examination, May/June 2013

(Repeaters) (2011-12 only)
COMMERCE
Business Statistics

Time ;: 3Hours Max. Marks : 100

Instruction : Answer should be written fully in English or in Kannada.
SECTION-A

Answer any eight sub-questions from the following. Each sub-question carries
2 marks. (2x8=16)

1. a) What is statistics ?

b) State the various measures of central tendency.
c) What is mean deviation ?

)
d) How range is calculated ?
e) What do you mean by correlation ?
f) What are the uses of Consumer’s price index ?
What is regression ?

)

) Find “r" when the two regression co-efficients are — 0.7 and — 1 .5.
) Define standard deviation.

) Find medianif AM=13and Z = 14.

) What is base year ?

)

SECTION-B
Answerany 3 questions. Each question carries 8 marks. (8x3=24)
2. From the following data compute Arithmetic mean and median

Marks . 0-10, 10-20, 20-30, 30-40, 40 -50, 50 - 60, 60 - 70
No. of students : 8 12 13 16 7 14 10

3. Calculate quartile deviation from the following data.

Class: 10- 20, 20 -30, 30 -40, 40 - 50, 50-60, 60-70
fo: 6 10 30 20 6 8
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4. Calculate S.D. from the following data

Wages(Rs.) : 10 20 30 40 50 60
No. of Workers : 8 12 20 10 / 3

5. Calculate Spearman’s rank correlation coefficient from the following data .
X : 53, 98 95 81, 75, 61, 59, 55
Y : 47 25 32 37/ 30 40 39 45

6. Compute the Mean Deviation from median trom the following data :

Marks - 10-~-20, 20 -30, 30 -40, 40 -50, 50-60, ©60-70, 70 -80
No. of Students : 4 6 10 20 10 ¢ 4
SECTION-C
Answer any 4 of the following. Each question carries 15 marks. (15%4=60)

/. Find mode by using grouping and analysis tables from the data given below :

Marks . 58 60 61 62 63 64 65 66 68 40
No.of Students : 4 6 5 10 20 22 24 o6 2 1

8. Find which of the Batsmen is more consistent player and better run getter from
the following data :

Batsman 'A': 32, 28, 47, 63, 71, 39, 10, 60, 96, 14
Batsman 'B': 19, 31, 48 53, 67, 90, 10, 62, 40, 80

9. Find the coefficient of correlation between price and sales from the following
data and interpret its value with P.E.

Price (Rs.) : 103, 98, 85, 92, 90, 84, 88 90, 94, 95
Sales (Units) : 500, 610, 700, 630, 670, 800, 800, 570, 700, 680

10. Obtain two regression equations from the following data where deviations are taken
from actualmean. N =20, X =4, Y =2, £x2= 1680, £y2 = 320, X xy = 480.

11. Compute Fisher's ideal index from the following data and show how it satisfies

TRT and FRT.
Commodities Base Year Current Year
Po Qo P1 S P
A 12 10 20 12
B 4 20 4 24
C 8 12 12 15
D 20 6 24 2
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B3 OLTONT O3RN TRTR 8 mﬁ@%ﬁ@?ﬁ B0, T3 YVTDIN DTT L20TMEO. (8x2=16)

1. a) RooTOR, DOTTESD 7

g

)
)

d) €208T=T2 Ten S3RITT 9
) RB-ROWOG 0T 7

2

) TR,HT W3 ALY 0BRDY, 20T BOINIY T LVECIRENEEIO ?

) BT,WSFT DOWOEI) 7

) bxy =—-0.7 @020 byx=-1.5 SNTIN FBROWOTER, BOTBIZEBCIV0.
) TERT DWLSOD 239,809,353 PR

) 1ed3 TR0 = 13 3080 WXITIT RTRO = 14 SNTRN BT, BIR), BOTBIEERCAD.
)

)

) 200030 ®0FCIY). eﬁs'e%od)@: 121 2023 zpsﬁoda Sonoead=23.15 %. RT3,
F0T308ECA00. -

LI - W
QAR TTTH I BINON B0, B3 TIN 8 CI0BNLR. (3x8=24)

_

2. E91 39T B3N FTIAO 3308 0T BIR TOTIEROWD ;
OB . 0-10, 10-20, 20-30, 30-40, 40-50, 50-60, 60-70
DIRGIRY mo 1 8 12 13 16 7 14 10

3. 8 9NR R LRGN BRTLEHVFODR) BT B0

ClL : 10-20, 20-30, 30-40, 40-50, 50-60, 60 -70
F 6 10 | 30 20 6 8
4. 3O TRIHTHIR FOTIEECAD
2sO(3s) @ 10, 20, 30, 40, 50, 60
jommddzess, : 8 12 2 10 7 3

5. SN ﬁra@,idm 3303000 AT ﬁaﬁ; C 02,087 %-ROLWOT ﬁ&ﬁawﬁd;ﬁi BOTBIEBO0 :
X : 53 98 95 81, 75, 61, 589, 55
Y : 47 25 3 37 30 40 39 4
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6. 305335 FBODOOT TR0 VLB FOBEROWD

€5 OFTTID > 10-20, 20-30, 30-40, 40-50, 50-60, 60-70, 70 -80

TR, DETR Bead, 4 6 10 20 10 6 4
LN - X
CINRYTITHTR 4 TINPN V302, T3 TIN 15 oM. (15%4=60)
X o e

7. LB ﬁoa;-‘a’oojo"’cooq NOOKRINT 33939 DB ERET WS, DL T SRV FOBILBOWDV,
CHOFETRD . B8, 60, 61, 62, 63, 64, 65 66, 68, 40
DwmBFRY R0y : 4 6 5 10 20 22 24 6 2

8. 83 TPNI &S00 O3TO 5&% z}cé)qé doéj o%zigd msr{eés% DT SN0,
R DY - 32 28 47, 63, 71. 39, 10, 60, 96, 14
REFRT ‘W : 19, 31, 48, 53, 67, 90, 10, 62, 40, 80

9. 88 3YNS (7333023% N0 #Srfowéd@{ eS8 ATRADCA0T FOWIEEOID T8
202IDVCOID BRCRT STV @Cﬁﬁi 59,33,

33 (SR) - 103, 98, 85 92, 90, 84, 88, 90, 94 95
=noew (Unitsy: 500, 610, 700, 630, 670, 800, 800, 570, /700, 680

10. 3R a@%md B EENPOT DO ARIVT,03E3 ﬁmeﬁdmﬁg{ FOTBIEEICAD. azéoécmzdi
DT ATIRDCA0TI OV
N=20, X=4,Y =2, £x°=1680, Zy° = 320, = xy = 480.

11, 8339NS BSY0BNYN mdsmasé OBERD, FOTIERCWD. BT, vw0 &en TRT w3020 FRT
SOCTNYI) S RTRROB ORI BREOR.

&) o
SRINTD ) Clapiefntiia WO TR
Po 4o Py d;
A 12 10 20 12
B 4 20 4 24
C 8 12 12 15
D 20 6 24 2




